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* gcc —c lu.c

* gcc —c call_gnuplot.c

*

* ccmg heat2d-i-en.o lu.c call_gnuplot.o

*/
#include
#include
#include
#include
#include
#define

double u

double exactu(double, double, double);

double maxnorm(int, int, matrix);
double pi;
int main()
{
double ri ,ri2, phi_j;
int N_r, N_p, mm, NN, i, j, p, q, n,
matrix Uk, A;
double *B, *vector_U, cond;

<stdio.h>

<math.h>

<matrix.h>

"lu.h"

"call_gnuplot.h"

psi(i,j) ((F) * mm + (i))

0(double, double);

int *iwork;

double h_r, h_p, lambda_r, lambda_p,

double
char 1

/x i
pi=4

/x 00

theta;
abel[200];

O x/
.0 * atan(1.0);

oooOo =/

skip, nMax, L;

lambda, tau, t, Tmax, dt, M, ex;

printf ("Nr, Ntheta: "); scanf(")d %d", &N_r, &N_p);

mm = N
NN =
/* 00
h.r =

_r+1;

(N_r+1)*(N_p) ;

godog =/
1.0 / N_r;
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h_p = 2.0 * pi / N_p;

/* 0000000000000 00D0000O0O00O0 =/
if ((Uk = new_matrix(N_r+1, N_p+1)) == NULL) {
fprintf(stderr, "OO Uk ODO00O0OOOO0O0OCOCOOON\n";
exit(1);

if ((A = new_matrix (NN, NN)) == NULL) {
fprintf(stderr, "OOUOO A OOOODOOOOCODOOOONn");
exit(1);

if ((B = (double *) malloc(sizeof (double) * NN)) == NULL) {
fprintf(stderr, "B OODOOOOODOOOOOON\n");
exit(1);

if ((vector_U = (double *) malloc(sizeof (double) * NN)) == NULL) {
fprintf (stderr, "vector U ODOOOODOOOOODOOON\n");
exit(1);

if ((iwork = (int *) malloc(sizeof(int) * NN)) == NULL) {
fprintf(stderr, "iwork 0OOD0OODOOOOODOOON\n");
exit(1);

/* 6 0000000 */
printf("6 (006 O 1): "); scanf(")1f", &theta);

if (theta == 1.0) {
printf ("t : "); scanf("%1f", &tau);
} else {
printf ("t (O%g =000gg): v,
(h_r * h_r * h_p * h_p) / (2.0 *(1 - theta) * (1 + h_p * h_p)));
scanf ("%1f", &tau);

/¥ N r, A %/
tau / (h_r * h_r);
tau / (h_p * h_p);

lambda_r

lambda_p
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/ D000000000oooo =/
printf ("Tmax: "); scanf("%1f", &Tmax);
printf ("A t(>=VYg): ", tau); scanf("%1f", &dt);
if (dt < tau) {
dt = tau;
}
skip = rint(dt / tauw);

/* GNUPLOTO OO =%/
open_gnuplot () ;

/« 000000 =/
for (i = 0; i <= N_r; i++) {
ri = (i) * h_r;
for (j = 0; j <= N_p; j++)
Uk[i] [j] = u0(ri, (j) * h_p);
}
/¥ 000000 %/
disk(N_r, N_p, Uk,"t=0");

/* 0000000000 %/
/0000 =/
for(p = 0; p < NN; p++){

for(q = 0; q < NN; g++)

Alpllq]l = 0.0;
Alpllp]l = 1.0;
/* Dirichle 0000 OODOOOOODOODOOOOODOOOOOO =/

}
/* 00000 */
A[0][0] = 1.0 + 4.0*thetaxlambda_r;

for(j = 0; j <= N_p-1; j++){
L = psi(1,j);
AT0] [L] = - (4.0*thetaxlambda_r) / N_p;
}

/* 000000000 =/

for(j = 1; j <= N_p-1; j++){
L = psi(0,3);
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A[L1[0] = - 1.0;

/¥ 000000 */
for(i = 1; i< N_r; i++){
ri = (i)*h_r;
ri2 = ri*ri;
for(j = 0; j <= N_p-1; j++){
L = psi(i,j);
int L1 = L-mm;
int L2 = L+mm;
if(j == 0)
L1 = psi(i,N_p-1);
/¥ j=000 j-10-100000-100000N6-100000 =%/
if(j == N_p-1)
L2 = psi(i,0);
/* §=N_p-100 j+10 N_pOOOD0 NpOOOOD 000OD0 %/

A[LI[L] = 1.0 + 2.0*theta*lambda_r + (2.0*thetaxlambda_p) / ri2;

A[L] [L+1] = - theta* lambda_r * (1.0 + h_r/(2.0%ri));
A[L] [L-1] = - theta* lambda_r * (1.0 - h_r/(2.0%ri));
A[L][L1] = - theta * lambda_p / ri2;
A[L][L2] = - theta * lambda_p / ri2;

}

}

/* 0000 LU OO *x/
decomp(NN, A, &cond, iwork, B);
if(cond + 1 == cond){
printf ("MATRIX IS SINGULAR TO WORKING PRECISION\n");

return O;

/* 000000000 */

nMax = rint(Tmax / tau);

for (n = 1; n <= nMax; n++) {
/* 00 1000000000000 */
/+ 000000 =/
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for (i = 1; i < N_r; i++){

ri = (i)*h_r;

ri2 = rix*ri;

for(j = 0; j<= N_p-1; j++){
L

psi(i,j);
int jml = j-1;
int jm2 = j+1;

if (jml == -1)

jml = N_p-1;
if (jm2 == N_p)

jm2 = 0;

B[L] = (1.0 - 2.0%(1.0 - theta)*lambda_r
- (2.0%(1.0 - theta)*lambda_p)/ri2)*Uk[i] [j]
+ (1.0 - theta)*lambda_r*((1.0 + h_r/(2.0%ri))*Uk[i+1] [j]
+ (1.0 - h_r/(2.0%ri))*Uk[i-1]1[j]1)
+ ((1.0 - theta)*lambda_p / ri2)*(Uk[i] [jm1] + Uk[i] [jm2]);

/= 00 =/

B[0] = (1.0 - 4.0%(1.0 - theta)*lambda_r)*Uk[0] [0];
for(j = 0; j <= N_p-1; j++){

B[0] += (4.0%(1.0 - theta)*lambda_r / N_p)=*Uk[1][j];

/ 000000 %/

for(j = 1; j <= N_p-1; j++){
L = psi(0,j);
B[L] = 0.0;

/* 0000 */

for(j = 0; j <= N_p-1; j+){
L = psi(N_r,j);
B[L] = 0.0;

/* A vector_ U =B 000 *x/
solve(NN, A, B, iwork);
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/x OO0 %/
for(i = 0; i<= N_r; i++){

for(j = 0; j <= N_p-1; j+H){

L = psi(i,j);
Uk[i]l[j]1 = BILI;
}
Uk[i] [N_p]l= Blpsi(i,0)];
}

t = n *x tau;

/ 00000 %/
M= 0.0;
for(i = 0; i <= N_r; i++){
ri = (i)*h_r;
for(j = 0; j <= N_p; j++){
double e;
phi_j = (j)*h_p;
e = fabs(exactu(ri, phi_j, t) - Uk[i] [j1);
if(e > M)

M= e;

}
printf ("n=%d, norm=Yg, t=lg, OO =Yg\n",
n, maxnorm(N_r, N_p, Uk), t, M);

/A t0000000000000000 =/
if (n % skip == 0){

sprintf (label, "t=lg", t);
disk(N_r, N_p, Uk, label);

close_gnuplot();

return O;

}
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/0000000000 =/

#define muO1 (2.404825557695771998)
#define mull (3.831705970207510692)

/x 00000 =*/
double uO(double r, double phi)
{

return jO(muOl * r) + ji(mull * r) * (cos(phi) + sin(phi));

/x 000 %/
double exactu(double r, double phi, double t)
{
return exp(- muOl* muOl* t)* jO(muOl * r)

+ exp(- mull* mull* t)* jl(mull * r)*(cos(phi) + sin(phi));

double maxnorm(int m, int n, matrix Uk)

{
int i, j, 10, jO;
double tmpmax, absu;
i0 = 0;
jo = 0;

tmpmax = fabs(Uk[0] [0]);
for(i = 0; i <= m; i++)

for(j = 0; j <= n; j++)

if ((absu = fabs(Uk[i] [j])) > tmpmax) {
tmpmax = absu;
i0 = 1i;
jo = 3;

}

printf("(i,j)=C%d,%d) ", i0, jO);

return tmpmax;
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* heat2d-i-en3.c ——-0 000 20000000000000
* jooboobo ooooboboooog

* QOO0O00O0000

* gcc —c bandlu.c

* gcc —c call_gnuplot.c

*

* ccmg heat2d-i-en3.c bandlu.c call_gnuplot.c

*/

#include <stdio.h>

#include <math.h>

#include <matrix.h>

#include "bandlu.h"

#include "call_gnuplot.h"

#define psi(i,j) ((i-1) * mm + j+1)

double u0O(double, double);
double exactu(double, double, double);
double maxnorm(int, int, matrix);

double pi;

int main()

{

double ri ,ri2, phi_j;

int N_r, N_p, mm, NN, i, j, p, q, n, skip, nMax, L;

matrix Uk, A;

double *B, *vector_U;

double h_r, h_p, lambda_r, lambda_p, lambda, tau, t, Tmax, dt, M, ex;
double theta;

char label[200];

/* mO0dx/
pi = 4.0 *x atan(1.0);

/x 000000 =/
printf ("Nr, Ntheta: "); scanf("%d %d", &N_r, &N_p);

mm = N_p;
NN = (N_r-1)*N_p + 1;
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/x 000000 =/
h.r =1.0 / N_r;
h_p =2.0 * pi / N_p;

/* 0000000000000 00o0ooooono */

if ((Uk = new_matrix(N_r+1, N_p+1)) == NULL) {
fprintf(stderr, "O0O Uk O0O0OO0OOOOOOOON\a";
exit(1);

}

if ((A = new_matrix(NN, NN)) == NULL) {
fprintf(stderr, "OOOO ADODOOOOCODOOOOOON";
exit(1);

}

if ((B = (double *) malloc(sizeof(double) * NN)) == NULL) {
fprintf(stderr, "B 0O0O0OO0OO0OOOOOON\n";
exit(1);

/00000000 %/
printf("8 (006 O 1) : "); scanf("/1lf", &theta);

if (theta == 1.0) {

printf("t = "); scanf("}1f", &tau);
} else {
printf ("t (O%g =sgooogo): v,

(h_r*h_r*h_pxh_p) / (2.0 * (1-theta)*(1+h_p*h_p)));
scanf ("%1f", &tau);

/¥ A, AO x/
tau / (h_r * h_r);
lambda_p = tau / (h_p * h_p);
/* 000000000000 00 =/
printf("Tmax: "); scanf("/1lf", &Tmax);
printf ("A t(>=Yg): ", tau); scanf("%1lf", &dt);
if (dt < tau) {
dt = tau;

lambda_r
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¥
skip = rint(dt / tau);

/* GNUPLOTDO OO =*/
open_gnuplot () ;

/x 000000 =/
for (i = 0; 1 <= N_r; i++) {
ri = (i) * h_r;
for (j = 0; j <= N_p; j++)
Uk[i] [j] = uwO(ri, (j) * h_p);

disk(N_r, N_p, Uk, "t=0");

/* DO000000Ooo =/
/* 0 000 %/
for(p = 0; p < NN; p++){
for(q = 0; g < NN; g++)
Alpl[q] = 0.0;
}
/¥ 00000 %/
A[0][0] = 1.0 + 4.0*theta*lambda_r;

for(j = 0; j <= N_p-1; j++){
L = psi(1,j);
A[0][L] = - (4.0*theta*lambda_r) / N_p;
}

/« 000000 =/
for(i = 1; i< N_r; i++){
ri = (i)*h_r;
ri2 = ri*ri;

for(j = 0; j <= N_p-1; j++){

L = psi(i,j);
int L1 = L-1;
int L2 = L+1;
int Lm = L-mm;
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if(j == 0)
L1 = psi(i,N_p-1);

if(j == N_p-1)
L2 = psi(i,0);

if(i == 1)
Lm = 0;

if(i !'= N_r-1)

A[L] [L+mm] = - theta* lambda_r* (1.0+h_r/(2.0%ri));

A[L] [Lm] = - theta* lambda_r * (1.0 - h_r/(2.0%ri));
A[L]I[L] = 1.0 +2.0*thetaxlambda_r +(2.0*theta*lambda_p)/ri2

A[L][L1] = - theta * lambda_p / ri2;
A[L][L2] = - theta * lambda_p / ri2;
}

}

/* 0000 LU OO =/
bandlu(A, NN, mm);

/x 0000 =/
for(j = 0; j <= N_p; j++){
Uk[N_r][j] = 0.0;

/ 000000000 =/
nMax = rint(Tmax / tau);

for (n = 1; n <= nMax; n++) {

/+ 001000000000000
/¥ 000000 =/

for (i = 1; 1 < N_r; i++){

ri = (i)*h_r;

ri2 = ri*ri;

for(j = 0; j<= N_p-1; j++){

’



L = psi(i,j);
int jml = j-1;
int jm2 = j+1;

if(jml == -1)

jml = N_p-1;
if (jm2 == N_p)
jm2 = 0;

B[L]= (1.0-2.0*(1.0-theta)*lambda_r
OO0000D0-(2.0%x(1.0-theta)*lambda_p)/ri2)*Uk [i] [j]
OO0000 +(1.0-theta)*lambda_r*((1.0+h_r/(2.0%ri))*Uk[i+1] [j]
OO00000+(1.0-h_r/(2.0%ri))*Uk [i-1]1 [j1)
O00000+((1.0-theta)*lambda_p/ri2)*(Uk[i] [jm1]+Uk[i] [jm2]);
}
}

/* OO0 %/

B[0] = (1.0 - 4.0%(1.0 - theta)*lambda_r)*Uk[0] [0];
for(j = 0; j <= N_p-1; j++){

B[0] += (4.0%(1.0 - theta)*lambda_r / N_p)*Uk[1][j];

/* A vector_ U =B 000 */
bandsolve (A, B, NN, mm);

/* 00 =/
Uk[0] [0] = B[O];
for(j = 1; j<= N_p; j++)
Uk[0] [j] = Uk[0][0];

for(i = 1; i< N_r; i++){

for(j = 0; j <= N_p-1; j++){

L = psi(i,j);
Uk[i][j] = BIL];
}
Uk [i] [N_p]= Blpsi(i,0)];

3

t = n *x tau;
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/* At 000000000DO00O000O000 =/
if (n % skip == 0){
sprintf (label, "t=lg", t);
disk(N_r, N_p, Uk, label);

/¥ 00000 =/
M =0.0;
for(i = 0; i <= N_r; i++){
ri = (i)*h_r;
for(j = 0; j <= N_p; j+#){
double e;
phi_j = (j)*h_p;
e = fabs(exactu(ri, phi_j, t) - Uk[il[j1);
if(e > M)

printf ("n=%d, norm=Yg, t=lg, O 0O=Vg\n",

n, maxnorm(N_r, N_p, Uk), t, M);

close_gnuplot();

return O;

}

/* 0000000000 =/

#define muO1l (2.404825557695771998)
#define mull (3.831705970207510692)

/* 00000 =/
double uO(double r, double phi)
{
return jO(muOl* r)+ jl(mull* r)* (cos(phi)+ sin(phi));
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/x OO0 =/
double exactu(double r, double phi, double t)
{
return exp(- muOl* muOl* t)* jO(muOl* r)

+ exp(- mull* mull* t)*jl(mull* r)*(cos(phi) + sin(phi));

double maxnorm(int m, int n, matrix Uk)
{

int i, j, i0, jO;

double tmpmax, absu;

i0 = 0;

j0 = 0;

tmpmax = fabs(Uk[0][0]);

for(i = 0; i <= m; i++)

for(j = 0; j <= n; j++)
if ((absu = fabs(Uk[i][j]1)) > tmpmax) {
tmpmax = absu;
i0 = i;
jo =3
}

printf("(i,j)=C%d,%d) ", i0, jO);
return tmpmax;

}

1.5 0OO0O0O0

obooooOoboooobooboooogao
oooobooooobooon

u(r, p,t) = 67”012t=]0(#017’) + e(—p112t) J1 (p117) (cos @ + sin ).

ooooo
flr,©)Jo(p0lr) + J1(u117)(cos ¢ + sin ).
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7=1.2x10~* ooo ooo
0 min(U}'F) 00 min(Up'H) 00
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1
= W(TH% (i1, = wig) =71 (wij — uiz1,5)) (2.2)

gbooobooboobon

1
Auri, ) = g (rigg (Wirng — ig) = 73 (Ui = Ui-1,5))
1
gy (W1 = 2 + wij1) + O(h7 + hE) (2:3)
iy
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oOooooSSsocogoooo

2.2 Swartztrauber-Sweet J 0 OO0 60

221 000O0O0DOOO0ODOOODOO

00000000000 (23)0000000000000000OO0OO0OOOOOOOOOO

+1
Uir’lj B UZ,L] _ 1 Un Un Un n
=2 (Ti+%( i+1,5 i,j)*ri—%( i i—l,j))
1

-
1 n n n
"‘Thg(Uz‘,j-s-l =20 +U}";_1), (2.4)
r7h2
urtl — ur. 1
= L — ) (ri—s—l(Uinjfj - UZZ—H) - Ti—l(UZ?fl - Uz”jllj))
T rih? 2 2
1 n n n
‘*‘ThQ(Ui,jH =205 +U) (2.5)
rh?
good
00000000000 O0O0O0OO0O1—-A0OAOODOOODODODOOODODODOOO
- - =(1- ‘9)[7}13(7"“%([]“1,3' - Ui,j) - Tifé(Ui,j - ifl.,j))
1 n n n
toops (Uil — 2085 + Ul
ilto
1 n n n n
+9[W(Tz‘+%(Ui-:fj - Ui,;rl) - Ti—%(Ui,j_l - Ui——i_l%j))
1 n+1 n+1 n+1
+r2h2 (Ui,j-':»1 - 2Ui,;_ + Ui,;’:l)] (2~6)
i'vo
(i=1,2...,No—1;5=01,...,Ny—1;n=0,1,...).
gooooooooooo
TH_le)\r ri_l0>\r 20\ " oA, n n
(1+ ; + ; + Tgw)Ui,fl - (ri-&-%Uiji%j +7"i—§Uij1%j)
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9)‘ n+1 n+1
— UL+ UY) =

Tips(L=0)A 711 (1=0)A L 201-0)),

1— — n.
( i ri r? Ui
1-0)\, ., 1-0)A
+( ) ( U+13+T171U ) ( 2) W(U2]+1+U,] 1) (27)

(t=1,2,...,N, —1;5=0,1,...,N, - 1;n=0,1,...).

oo00oO0O0oopo 0000000 OOOO0OODOOOODOOODOOOOOOOODOOOODn
oboocooooooogon

222 QOJO00OO0OOOOO

obooobOoboooooboon

Ny—1 N,—1
40N, < 41 =0\, <
(1+ 40X\ U St — UM = (1 - 41— 0T, + 40 =9 up; o (2.8)
N, §j=0 Ny =0

(j=0,1,...,N,—1;n=0,1,...)
Uy =Ugo, Ug St = USE! (j=0,1,...,N, - 1)

oooooo
SS00000dOdfooooggeiiddooooooooooon

2.2.3 Swartztrauber-Sweet J 0 OO0 QOQO0OOOOO

/*

* ss.c ———-0 00020000000 ssOOOOO
* joboobg booboobooboobo
* goooogoooa

* gcc —c bandlu.c

* gcc —c call_gnuplot.c

*

* ccmg ss.c bandlu.o call_gnuplot.o

x/

#include <stdio.h>
#include <math.h>
#include <matrix.h>
#include "bandlu.h"
#include "call_gnuplot.h"
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#define psi(i,j) ((i-1) * mm + j+1)

double uO(double, double);
double exactu(double, double, double);
double maxnorm(int, int, matrix);

double pi;

int main()
{
double ri ,ri2, ri3, ri4, phi_j;
int N_r, N_p, mm, NN, i, j, p, q, n, skip, nMax, L;
matrix Uk, A;
double *B, *vector_U;
double h_r, h_p, lambda_r, lambda_p, lambda, tau, t, Tmax, dt, M, ex;
double theta;
char label[200];

/* tdadx/
pi = 4.0 * atan(1.0);

/x 000000 =/
printf ("Nr, Ntheta: "); scanf(")d %d", &N_r, &N_p);

mm = N_p;
NN (N_r-1)*N_p + 1;

/x 000000 =/
h.r =1.0 / N_r;
(2.0 * pi) / N_p;

h_p

/ 0000000000000 00000000040 =/

if ((Uk = new_matrix(N_r+1, N_p+1)) == NULL) {
fprintf(stderr, "OU0O Uk 0OO0O0OOOOODOOON\D";
exit(1);

+

if ((A = new_matrix(NN, NN)) == NULL) {
fprintf(stderr, "OOOO ADOOOOODOOOOOOOON\D");
exit(1);
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}

if ((B = (double *) malloc(sizeof (double) * NN)) == NULL) {
fprintf(stderr, "B OUODOOOOODOOOOOON\n");
exit(1);

/* 6 0000000 */
printf("6 (006 O 1) : "); scanf("/1lf", &theta);

if (theta == 1.0) {

printf("t = "); scanf("}1f", &tau);
} else {
printf ("t (O%g =s0O0o0gg): v,

(hor * h_r * h_p * h_p) / (2% (1 - theta) *(1 + h_p * h_p)));
scanf ("%1f", &tau);

/* N r, ANO */
lambda_r = tau / (h_r * h_r);
lambda_p = tau / (h_p * h_p);
/ 00000000000000 */
printf("Tmax: "); scanf("}1lf", &Tmax);
printf ("A t(>=Yg): ", tau); scanf("%1f", &dt);
if (dt < tau) {
dt = tau;

}
skip = rint(dt / tauw);

/* GNUPLOTO OO =%/
open_gnuplot () ;

/* 000000 =/
for (i = 0; 1 <= N_r; i++) {
ri = (i) * h_r;
for (j = 0; j <= N_p; j++)
Uk[i][j]1 = u0(ri, (j) * h_p);

disk(N_r, N_p, Uk, "t=0");
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/*

/ 0000000000 =/

/* 0

OO0 =/

for(p = 0; p < NN; p+H){
for(q = 0; q < NN; g++)

A
}

[pl[q] = 0.0;

/*x 00000 =/

A[0][0] = 1.0 + 4.0*theta*lambda_r;

for(j = 0; j <= N_p-1; j+H){
L= psi(1,j);
A[0][L] = - (4.0*thetax*lambda_r) / N_p;
}

ooooog =/

for(i = 1; i< N_r; i++){

ri = (i)*h_r;

ri2 = ri*ri;

ri3

rid

(i+(1.0/2.0))*h_r;
(i-(1.0/2.0))*h_r;

for(j = 0; j <= N_p-1; j++){

L = psi(i,j);
int L1 = L-1;
int L2 = L+1;

int Lm = L-mm;
if(j == 0)

L1 = psi(i,N_p-1);

if(j == N_p-1)
L2 = psi(i,0);

if(i == 1)
Lm = 0;

if(i !'= N_r-1)
A[L] [L+mm] =

(- ri3 * theta * lambda_r)/ri;
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A[L][Lm] = (- ri4 * theta * lambda_r)/ri;
A[L][L] = 1.0 + (ri3*theta*lambda_r)/ri

+ (ri4stheta*lambda_r)/ri + (2.0*thetaxlambda_p)/ri2;
A[L]I[L1] = - theta * lambda_p / ri2;
ATL] [L2]
}

- theta * lambda_p / ri2;

/* 0000 oo *x/
bandlu(A, NN, mm);

/x 0000 =/
for(j = 0; j <= N_p; j++){
Uk[N_r]1[j] = 0.0;

/ 000000000 =/
nMax = rint(Tmax / tau);

for (n = 1; n <= nMax; n++) {

/+ 001000000000000 %/
/¥ 000000 =/
for (i = 1; i < N_r; i++){
ri = (i)*h_r;
ri2 = ri*ri;
ri3 = (i+(1.0/2.0))*h_r;
ri4d = (i-(1.0/2.0))*h_r;
for(j = 0; j<= N_p-1; j++){
L

psi(i,j);
int jml = j-1;
int jm2 = j+1;

if(jml == -1)

jml = N_p-1;
if (jm2 == N_p)

jm2 = 0;

B[L] = (1.0 - (ri3*(1-theta)*lambda_r)/ri - (rid4*(1-theta)*lambda_r)/ri
- (2.0*%(1-theta)*lambda_p)/ri2 )*Uk[i] [j]
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+ ((1.0-theta)*lambda_r/ri)*(ri3*Uk[i+1] [j] + ri4xUk[i-1][j]1)
+ ((1.0 - theta)*lambda_p / ri2)*(Uk[i] [jm1] + Uk[i] [jm2]);

/* 00 =/

B[0] = (1.0 - 4.0%(1.0 - theta)*lambda_r)*Uk[0] [0];
for(j = 0; j <= N_p-1; j++){

B[0] += (4.0%(1.0 - theta)*lambda_r / N_p)*Uk[1][j];

/¥ A vector_U =B 000 x/
bandsolve(A, B, NN, mm);

/x 00 */
Uk[0][0] = B[O];
for(j = 1; j<= N_p; j++)
Uk[0] [j] = Uk[0][0];

for(i = 1; i< N_r; i++){
for(j = 0; j <= N_p-1; j++){

L = psi(i,]);
Uk[i] [j]1 = BILI;
}
Uk[i] [N_p]l= Blpsi(i,0)];

}

t = n *x tau;

/ A t0000000000D0DO0O0O00O0 *x/
if (n % skip == 0){
sprintf (label, "t=Vg", t);
disk(N_r, N_p, Uk, label);

/* 00000 =/
M = 0.0;
for(i = 0; i <= N_r; i++){

ri = (i)*h_r;
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for(j = 0; j <= N_p; j+&){
double e;
phi_j = (j)*h_p;
e = fabs(exactu(ri, phi_j, t) - Uk[i] [j1);
if(e > M)

M=e;

}

printf ("n=%d, norm=Yg, t=lg, OO =Yg\n",
n, maxnorm(N_r, N_p, Uk), t, M);

close_gnuplot();

return O;

}

/ 0000000000 =/

#define muO1 (2.404825557695771998)
#define mull (3.831705970207510692)

/* OO0000O =/
double uO(double r, double phi)

{
return jO(muOl * r) + ji(mull * r) * (cos(phi) + sin(phi));
}
/* 000 %/
double exactu(double r, double phi, double t)
{

return exp(- muOl* muOl* t)* jO(muOlx* r)

+ exp(- mull* mull* t)* ji(mull* r)* (cos(phi)+sin(phi));

double maxnorm(int m, int n, matrix Uk)

{
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int i, j, i0, jO;
double tmpmax, absu;
i0 = 0;
j0 = 0;
tmpmax = fabs(Uk[0] [0]);
for(i = 0; i <= m; i++)
for(j = 0; j <= n; j++)
if((absu = fabs(Uk[i][j])) > tmpmax) {
tmpmax = absu;
i0 = i;
jo = 3;
}
printf("(i,j)=(%d,%d) ", i0, jO);

return tmpmax;

23 0OU00OO

23.1 0OO0O00OODO

00 6000000000000

0oo0 (6=0)
N, | N, T 0ooooo 00 0oooooooo
5 | 20 | 0.00008 | 0.00349125 | 0.000412356
10 | 40 | 0.00002 | 0.00317918 | 0.000100291 0.243214601
20 | 80 | 0.000005 | 0.00310379 | 0.0000249018 |  0.248229546

000 (6=1)
N, | N, T 0oooo 00 0ooooooo
5 | 20 | 0.00008 | 0.00350019 | 0.000421301
10 | 40 | 0.00002 | 0.00318129 | 0.000102395 0.243044795
20 | 80 | 0.000005 | 0.00310431 | 0.0000254194 0.24824845

oooooooo 20,700 i gbooooooooobooooon i oboooooobooooo
oooooo
O000000 Laplacian DO DO OO0 O0O0OO0OODOOO0OO0DOOO0ODOOODOOOOOOO
gbobooboboooboobooboobo233000b000an
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232 00O
SSOo0Ooo0ooo0ooooo0oooooOooooo0oooobooooooboOooo
TiJr%(l—G))\r ri,%(l—e))\r 2(1_0))\<p

min(1 — - - - - 2 )>0
ooooa
B T1+%(1 — 9))\T B 7“17%(1 — 9))\T B 2(1 — 0))‘39 >0
r r r? -
rH_%(l — O\, 7"1_%(1 L 2(1-0)\,
<
T1 + T1 + 7’% 1
W-0f -0 2005
hy. hy h?
31-0)r 1-6)r 201-0)r 1
2h2 2h2 hZh%  ~
2 2
r r'o
h2h2
< e 2.
T ey (29)
oooo

gboooboooboobooobooooboooobooboob 4000000000000
oood

233 0000OO0ODOOOOO

0000000000000 00000000000000
N, =10,N, =400000000000000 7 < 1.20399 x 10747 < 1.20399 x 10747 <

1.20399 x 10740000
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7=1.2x10"* ooooooo SsO0
0 0oooo 00 ooooo 00
0.99948 0.00318344 | 9.52716x107° | 0.00318344 | 9.52716x107°
0.9996 0.00318124 | 9.52172x107° | 0.00318124 | 9.52172x10~°
0.99972 0.00317904 | 9.51628%107° | 0.00317904 | 9.51628x10°
0.99984 0.00317685 | 9.51084x107° | 0.00317685 | 9.51084x10~°
0.99996 0.00317466 | 9.5054x107° | 0.00317466 | 9.5054x10~°
7=1.20399x 10~ ooooooo SsSO0
0 0oooo 00 00000 00
0.999552 0.00318209 | 9.52177x107° | 0.00318209 | 9.52177x10~°
0.999673 0.00317988 | 9.51631x107° | 0.00317988 | 9.51631x107°
0.999793 0.00317768 | 9.51086x107° | 0.00317768 | 9.51086x10°
0.999914 0.00317548 | 9.5054x107° | 0.00317548 | 9.5054x10~°
1.00003 0.00317328 | 9.49995x107° | 0.00317328 | 9.49995x10~°
T=1.23x10"* ooooooo SSO0
0 00000 00 0ooooo 00
0.239973 0.49304 0.239167 0.240062 | 2.34888x1073
0.240096 0.497194 0.243606 0.239901 | 2.34787x10~3
0.240219 0.501626 0.248131 0.23974 2.34686x 10~
0.999744 1.30626x10%% | 1.30626x10%° | 1.18574x10% | 1.1857x10%
0.999867 1.3307x10% | 1.3307x10% | 1.20793x10* | 1.20793%10*
0.99999 1.3556x10% | 1.3556x10% | 1.23054x10% | 1.23054x10%

gbobooboboooboooooooooooooboooooboo,0oboo0obobooooooon
gboabooaoooobog,booboooboboboaobod

O00000ooooogoo sSsogggoooooooooSSobooooooooooooo
gbooooobooog
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3.1 0000

obooobOoboooboobooooobobooooboobooooboooooono

goboooboooooboooooooobooobobobooooboooboooobobooboboooo
SSO0000000000000000000000000000000000O00OO0OOO0O0OO
gooooo

oooooO000o0oOoooooooooooooooooooooodN, =40,N, = 1607 =
4x107"0 Tmax=100000000 30000000000000000000000000O0O
(Ooo0OU0OoOoUOoO0o0OO ..)000O00O0O0C0 10000000000 0O0O00C0 RO
gboocobOobooooobobooooobooogn

3.2 UO0OOOOOOOO

[lJD00000C00000000000000O0O0ooOOoOoUoooOo
heat2d-i-disk.c heat2d-i-disk2.c heat2d-i-disk3.c
2[000D0000D00000000 min(U3,)00000000
jikken.c

B|0000o00oUoooon

bandlu.c

46



oo

1] 000 000000 (000000000)
2] 000 0000000000 000000000
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http://www.math.meiji.ac.jp/~mk/labo/text/heat-fdm-2.pdf
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http://www.math.meiji.ac.jp/~mk/labo/report

[f) 00 00,00 00,00 00 00000000000000000
(19980000000000)
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(20040000000000O)
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